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QUESTION 1

Scenario: A Citrix Architect has designed an active/passive XenApp and XenDesktop environment for a 

customer, where the passive datacenter serves as the disaster recovery datacenter for all users. 

The following has been configured: 

NetScaler Global Server Load Balancing (GSLB) to provide single URL direction to the active datacenter. 

GSLB has health monitors configured for the load balanced servers. 

NetScaler Gateways are on both datacenters. 

NetScaler load balancing occurs for StoreFront and Delivery Controller XML services. 

A single XenApp and XenDesktop Site exists. 

Four Delivery Controllers are members of the Site. 

Two Delivery Controllers are members of the primary zone in the active datacenter. 

Two Delivery Controllers are members of the satellite zone in the passive datacenter. 

SQL is deployed in the active datacenter. 

Local Host Cache is enabled. 

Two StoreFront servers are deployed in each datacenter aggregating resources from the Delivery 

Controllers in the respective datacenter. 

Virtual Delivery Agent (VDA) machines are deployed in both datacenters and configured to register with 

Delivery Controllers in their zone. 

What would happen if the SQL Server in the primary datacenter were turned off? 

A. VDA machines from the primary datacenter would register with the Delivery Controllers in the passive datacenter. 

B. GSLB will NOT identify that the SQL Server is down and sessions cannot launch. 

C. StoreFront in the primary datacenter would still be able to launch sessions. 

D. GSLB will start redirecting connections to the secondary datacenter. 

Correct Answer: A 

 

QUESTION 2

Scenario: A Citrix Architect needs to design a new XenApp and XenDesktop environment. Provisioning Services has
been selected for image management. The Provisioning Services vDisk store requires high fault tolerance and the
ability to support dual drive failure. 
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Which RAID level could the architect use for the Provisioning Services vDisk store? 

A. RAID 6 

B. RAID 5 

C. RAID 0 

D. RAID 1 

Correct Answer: A 

 

QUESTION 3

Scenario: A Citrix Architect is implementing a new XenApp and XenDesktop environment. 

The customer has stated the following requirements: 

All users must be able to aggregate resources from all Sites. 

Both Sites should be treated as one equivalent farm set. 

User connections should be directed to the New York Site with failover to San Francisco. 

Click the Exhibit button to view the StoreFront configurations. 

Exhibit 1 
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Exhibit 2 
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Based on the configurations, requirement 1 is_____, requirement 2 is _______, and requirement 3 is_______. (Choose
the correct option to complete the sentence.) 

A. met; met; NOT met 

B. NOT met; NOT met; NOT met 

C. NOT met; met; NOT met 

D. met; NOT met; NOT met 

E. met; NOT met; met 

F. met; met; met 

G. NOT met; met; met 

Correct Answer: E 

 

QUESTION 4

Scenario: The IT team of a company needs to migrate to Microsoft Azure and has asked a Citrix Architect for a solution
that offers protection from datacenter level failures. 

What should the architect recommend the IT team create in Microsoft Azure? 

A. Availability set with update domain 

B. Availability set with fault domain 

C. Resource group 

D. Availability zones 

Correct Answer: D 
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QUESTION 5

Scenario: A Citrix Architect needs to design a new XenApp and XenDesktop environment for a financial services
company. During the project kickoff meeting, the organization states the following business priorities: 

"Overall, we want a robust solution which ensures that users can access their resources at any time, even if our primary
datacenter experiences an outage. Our employees will need to access their resources from both inside and outside our
corporate network, but we need to ensure that we enable this in a secure manner and protect our sensitive data." 

Which four design decisions align with the organization\\'s stated business drivers? (Choose four.) 

A. Redundancy should be implemented for all infrastructure components. 

B. Server OS Virtual Delivery Agent (VDA) machines should be used to increase user density per machine. 

C. Optimal Gateway Routing should be configured on StoreFront. 

D. NetScaler will be required in the environment. 

E. A multi-Site architecture and disaster recovery plan will be required. 

F. Single image management should be included in the design. 

G. SmartAccess or SmartControl features should be considered for this environment. 

Correct Answer: BCDG 
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